il

ol
14

@ 10 @ 11 @ 24 ® 36

D 5



mj

ald

® 3

<t o

™ o

a1

— o



B0 SIS B2,

3.

2 4
5=
+ 8

32
8




SHA 2.

Ao
n=

o

® 32
6

3
@ 3-
6

™ |©

@2§
6

2
O 2=
6



LE

=2

ot Aol 4

=
=

g7}

=1
=

25771

o

S
=

Uth, 47} 4Rt doht B



6.

8 AN 2.

9
© 15




® -, x

@ +, -

® +, +



olJ
N
o
iz}
ol
=
uy

r

fife)

o e Afgo] 1 relA] 7

of
<
T
e
"X
. O
T E
T

TR
T A
Q@ ©
~ S+ R
TR
T
0 @



e 6 [ L] L] Ll
AR I i S
D 9,20,11,1,4 ® 3,8,11,1,4 ® 2,6,8,1,1

@ 9,20,29,4,1

® 14,42,56,7,7







— [

o

1=

®

3
12
®5

1
-
®5



12.

20 cmZolo] M HO|Z 47-E  90em.

2

3
LE 2ol 3 o em M 4

== o, A4 dol= % cm
7} 51 54 9.
2 4

3 1
@ 705 cm ® 695 cm



=
ct<

& 57 7

13. o

o
ol



Aee dad e 1% A7k, 950 2% A7 5

Uttt 48 do A7 TV & B A|7HS L5HA Q.

Rt A7t



15. o322 B3 ©9dA @719 o ——-5km-—__
A s T L. ©_©
< - 4 //’/'\\8 /ll
1 5 5
@ 4gkm @) 3gkm ©) 2§km
@ 1-km ® 1-km



